# SOME IDENTITIES OF BOOLE AND EULER POLYNOMIALS

### DAE SAN KIM AND TAEKYUN KIM

ABSTRACT. In this paper, we give a new and interesting identities of Boole and Euler polynomials which are derived from the symmetry properties of the p-adic fermionic integrals on  $\mathbb{Z}_p$ .

## 1. Introduction

Let p be a fixed odd prime number. Throughout this paper,  $\mathbb{Z}_p$ ,  $\mathbb{Q}_p$  and  $\mathbb{C}_p$  will denote, respectively, the ring of p-adic integers, the field of p-adic rational numbers and the completion of algebraic closure of  $\mathbb{Q}_p$ . The p-adic norm is normalized as  $|p|_p = \frac{1}{p}$ . Let  $C(\mathbb{Z}_p)$  be the space of continuous functions on  $\mathbb{Z}_p$ . For  $f \in C(\mathbb{Z}_p)$ , the p-adic fermionic integral on  $\mathbb{Z}_p$  is defeind by Kim to be

(1) 
$$I_{-1}(f) = \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) = \lim_{N \to \infty} \sum_{x=0}^{p^N - 1} f(x) (-1)^x$$
, (see [5])

Let  $f_1(x) = f(x+1)$ . Then, by (1), we get

(2) 
$$I_{-1}(f_1) = -I_{-1}(f) + 2f(0)$$
, (see [7, 5, 10, 8, 9]).

From (2), we can derive the following integral equation:

(3) 
$$I_{-1}(f_n) = (-1)^n I_{-1}(f) + 2 \sum_{l=0}^{n-1} (-1)^{n-1-l} f(l).$$

As is well known, the ordinary Euler polynomials are defined by the generating function to be

(4) 
$$\frac{2}{e^t + 1} e^{xt} = e^{E(x)t} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!},$$

<sup>2010</sup> Mathematics Subject Classification. 11B68;11B83;11S80.

Key words and phrases. Identities of symmetry for Boole and Euler polynomials; p-adic fermionic integral;

with the usual convention about replacing  $E^n(x)$  by  $E_n(x)$  (see [1, 9, 12, 11, 13, 14, 17, 15, 16, 2, 3, 4, 6, 7, 5, 10, 8]).

When x = 0,  $E_n = E_n(0)$  is called the *n*-th Euler number.

The Stirling number of the first kind is defined by

(5) 
$$(x)_n = x(x-1)\cdots(x-n+1) = \sum_{l=0}^n S_1(n,l) x^l$$

where  $n \in \mathbb{N} \cup \{0\}$  (see [6, 7, 5]).

The Boole polynomials are defined by the generating function to be

(6) 
$$\sum_{n=0}^{\infty} Bl_n\left(x|\lambda\right) \frac{t^n}{n!} = \frac{1}{1 + \left(1 + t\right)^{\lambda}} \left(1 + t\right)^x,$$

(see [5, 14]).

When  $\lambda = 1$ ,  $2Bl_n(x|1) = Ch_n(x)$  are the Changhee polynomials which are defined by

$$\sum_{n=0}^{\infty} Ch_n(x) \frac{t^n}{n!} = \frac{2}{t+2} (1+t)^x, \quad (\text{see } [7, 5]).$$

Let us take  $f(x) = e^{tx}$ . Then, by (2), we get

(7) 
$$\int_{\mathbb{Z}_n} e^{xt} d\mu_{-1}(x) = \frac{2}{e^t + 1} = \sum_{n=0}^{\infty} E_n \frac{t^n}{n!}.$$

From (7), we have

(8) 
$$\int_{\mathbb{Z}_n} e^{(x+y)t} d\mu_{-1}(y) = \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}.$$

Thus, by comparing the coefficients on the both sides of (8), we get

(9) 
$$\int_{\mathbb{Z}_n} (x+y)^n d\mu_{-1}(y) = E_n(x), \text{ where } n \in \mathbb{N} \cup \{0\}.$$

The purpose of this paper is to give identities of symmetry for the Boole and Euler polynomials which are derived from the symmetric properties of the p-adic fermionic integrals on  $\mathbb{Z}_p$ .

# 2. IDENTITIES OF SYMMETRY FOR BOOLE AND EULER POLYNOMIALS In this section, we assume that $t \in \mathbb{C}_p$ with $|t|_p < p^{-\frac{1}{p-1}}$ , For $\lambda \in \mathbb{Z}_p$ , let us take $f(x) = (1+t)^{\lambda x}$ . Then, by (2), we get

(10) 
$$\int_{\mathbb{Z}_{p}} (1+t)^{\lambda x} d\mu_{-1}(x) = \frac{2}{1+(1+t)^{\lambda}}$$
$$= 2 \sum_{n=0}^{\infty} B l_{n}(\lambda) \frac{t^{n}}{n!},$$

where  $Bl_n(0|\lambda) = Bl_n(\lambda)$  are called the Boole numbers. By (10), we easily get

(11) 
$$\int_{\mathbf{Z}_{\mu}} (1+t)^{x+\lambda y} d\mu_{-1}(y) = \frac{2}{1+(1+t)^{\lambda}} (1+t)^{x}.$$

By (6) and (11), we get

$$\int_{\mathbb{Z}_{p}}\left(x+\lambda y\right)_{n}d\mu_{-1}\left(y\right)=2Bl_{n}\left(x|\lambda\right),\quad\left(n\in\mathbb{Z}_{\geq0}\right),$$

and

(12) 
$$\sum_{n=0}^{\infty} 2Bl_n(x|\lambda) \frac{(e^t - 1)^n}{n!} = \frac{2}{e^{\lambda t} + 1} e^{xt}$$
$$= \sum_{n=0}^{\infty} E_n\left(\frac{x}{\lambda}\right) \lambda^n \frac{t^n}{n!}.$$

The Stirling number of the second kind is defined by the generating function to be

(13) 
$$(e^{t}-1)^{n} = n! \sum_{l=n}^{\infty} S_{2}(l,n) \frac{t^{l}}{l!}, \quad (\text{see } [7, 5, 14]).$$

By (12) and (13), we get

(14) 
$$\sum_{n=0}^{m} Bl_n(\lambda|x) S_2(m,n) = \frac{1}{2} E_m\left(\frac{x}{\lambda}\right) \lambda^m,$$

where  $m \in \mathbb{Z}_{\geq 0}$ .

Let  $w_1, w_2, w_3 \in \mathbb{N}$  with  $w_1 \equiv 1 \pmod{2}$ ,  $w_2 \equiv 1 \pmod{2}$ ,  $w_3 \equiv 1 \pmod{2}$ . Then, by (1), we see that

(15) 
$$\int_{\mathbb{Z}_{p}} (1+t)^{w_{1}w_{2}x+w_{2}j+w_{1}y} d\mu_{-1}(y)$$

$$= \lim_{N \to \infty} \sum_{y=0}^{p^{N}-1} (1+t)^{w_{1}w_{2}x+w_{2}j+w_{1}y} (-1)^{y}$$

$$= \lim_{N \to \infty} \sum_{i=0}^{w_{2}-1} \sum_{y=0}^{p^{N}-1} (1+t)^{w_{1}w_{2}x+w_{2}j+w_{1}(i+w_{2}y)} (-1)^{i+w_{2}y}.$$

From (15), we have

(16) 
$$\sum_{j=0}^{w_{1}-1} (-1)^{j} \int_{\mathbb{Z}_{p}} (1+t)^{w_{1}w_{2}x+w_{2}j+w_{1}y} d\mu_{-1}(y)$$

$$= \lim_{N \to \infty} \sum_{i=0}^{w_{1}-1} \sum_{j=0}^{w_{2}-1} \sum_{y=0}^{p^{N}-1} (-1)^{i+j+y} (1+t)^{w_{1}w_{2}(x+y)+w_{2}j+w_{1}i}.$$

By the same method as (16), we get

(17) 
$$\sum_{j=0}^{w_2-1} (-1)^j \int_{\mathbb{Z}_p} (1+t)^{w_1 w_2 x + w_1 j + w_2 y} d\mu_{-1}(y)$$

$$= \lim_{N \to \infty} \sum_{i=0}^{w_2-1} \sum_{j=0}^{w_1-1} \sum_{y=0}^{p^N-1} (-1)^{i+j+y} (1+t)^{w_1 w_2 (x+y) + w_1 j + w_2 i}.$$

Therefore, by (16) and (17), we obtain the following theorem.

**Theorem 2.1.** For  $w_1, w_2, w_3 \in \mathbb{N}$  with  $w_1 \equiv 1 \pmod{2}$ ,  $w_2 \equiv 1 \pmod{2}$ ,  $w_3 \equiv 1 \pmod{2}$ , we have

$$\begin{split} &\sum_{j=0}^{w_1-1} \left(-1\right)^j \int_{\mathbb{Z}_p} \left(1+t\right)^{w_1 w_2 x + w_2 j + w_1 y} d\mu_{-1}\left(y\right) \\ &= \sum_{j=0}^{w_2-1} \left(-1\right)^j \int_{\mathbb{Z}_p} \left(1+t\right)^{w_1 w_2 x + w_1 j + w_2 y} d\mu_{-1}\left(y\right). \end{split}$$

Corollary 2.2. For  $n \geq 0$ ,  $w_1$ ,  $w_2$ ,  $w_3 \in \mathbb{N}$  with  $w_1 \equiv 1 \pmod{2}$ ,  $w_2 \equiv 1 \pmod{2}$ ,  $w_3 \equiv 1 \pmod{2}$ , we have

$$\sum_{j=0}^{w_{1}-1} (-1)^{j} \int_{\mathbb{Z}_{p}} (w_{1}w_{2}x + w_{2}j + w_{1}y)_{n} d\mu_{-1} (y)$$

$$= \sum_{j=0}^{w_{2}-1} (-1)^{j} \int_{\mathbb{Z}_{p}} (w_{1}w_{2}x + w_{1}j + w_{2}y)_{n} d\mu_{-1} (y).$$

Now, we observe that

(18) 
$$\int_{\mathbb{Z}_{p}} (1+t)^{w_{1}w_{2}x+w_{1}j+w_{2}y} d\mu_{-1}(y)$$

$$= \frac{2}{1+(1+t)^{w_{2}}} (1+t)^{w_{1}w_{2}x+w_{1}j}$$

$$= \sum_{n=0}^{\infty} 2Bl_{n} (w_{1}w_{2}x+w_{1}j|w_{2}) \frac{t^{n}}{n!}.$$

Thus, by (18), we get

(19) 
$$\sum_{j=0}^{w_2-1} (-1)^j \int_{\mathbb{Z}_p} (1+t)^{w_1 w_2 x + w_1 j + w_2 y} d\mu_{-1}(y)$$
$$= \sum_{n=0}^{\infty} \left( 2 \sum_{j=0}^{w_2-1} (-1)^j Bl_n (w_1 w_2 x + w_1 j | w_2) \right) \frac{t^n}{n!},$$

and

(20) 
$$\sum_{j=0}^{w_2-1} (-1)^j \int_{\mathbb{Z}_p} (1+t)^{w_1 w_2 x + w_1 j + w_2 y} d\mu_{-1}(y)$$
$$= \sum_{n=0}^{\infty} \left( \sum_{j=0}^{w_2-1} (-1)^j \int_{\mathbb{Z}_p} (w_1 w_2 x + w_1 j + w_2 y)_n d\mu_{-1}(y) \right) \frac{t^n}{n!}.$$

From (19) and (20), we have

(21) 
$$2 \sum_{j=0}^{w_2-1} (-1)^j Bl_n (w_1 w_2 x + w_1 j | w_2)$$
$$= \sum_{j=0}^{w_2-1} (-1)^j \int_{\mathbf{Z}_p} (w_1 w_2 x + w_1 j + w_2 y)_n d\mu_{-1} (y).$$

By the same method as (21), we get

(22) 
$$2 \sum_{j=0}^{w_{1}-1} (-1)^{j} B l_{n} (w_{1}w_{2}x + w_{2}j | w_{1})$$

$$= \sum_{j=0}^{w_{1}-1} (-1)^{j} \int_{\mathbf{Z}_{p}} (w_{1}w_{2}x + w_{2}j + w_{1}y)_{n} d\mu_{-1} (y).$$

Therefore, by Corollary 2.2, (21) and (22), we obtain the following theorem.

**Theorem 2.3.** For  $n \geq 0$ ,  $w_1$ ,  $w_2$ ,  $w_3 \in \mathbb{N}$  with  $w_1 \equiv 1 \pmod{2}$ ,  $w_2 \equiv 1 \pmod{2}$ ,  $w_3 \equiv 1 \pmod{2}$ , we have

$$\sum_{j=0}^{w_2-1} (-1)^j Bl_n (w_1 w_2 x + w_1 j | w_2)$$

$$= \sum_{j=0}^{w_1-1} (-1)^j Bl_n (w_1 w_2 x + w_2 j | w_1).$$

Now, we observe that

(23) 
$$\int_{\mathbb{Z}_{p}} (w_{1}w_{2}x + w_{2}j + w_{1}y)_{n} d\mu_{-1}(y)$$

$$= \sum_{i=0}^{n} S_{1}(n, i) \int_{\mathbb{Z}_{p}} (w_{1}w_{2}x + w_{2}j + w_{1}y)^{i} d\mu_{-1}(y)$$

$$= \sum_{i=0}^{n} S_{1}(n, i) w_{1}^{i} \int_{\mathbb{Z}_{p}} \left(w_{2}x + \frac{w_{2}}{w_{1}}j + y\right)^{i} d\mu_{-1}(y)$$

$$= \sum_{i=0}^{n} S_{1}(n, i) w_{1}^{i} E_{i}\left(w_{2}x + \frac{w_{2}}{w_{1}}j\right).$$

Thus, by (23), we get

(24) 
$$\sum_{j=0}^{w_{1}-1} (-1)^{j} \int_{\mathbb{Z}_{p}} (w_{1}w_{2}x + w_{2}j + w_{1}y)_{n} d\mu_{-1} (y)$$

$$= \sum_{i=0}^{n} S_{1} (n, i) w_{1}^{i} \sum_{j=0}^{w_{1}-1} (-1)^{j} E_{i} \left( w_{2}x + \frac{w_{2}}{w_{1}} j \right).$$

By the same method as (24), we get

$$\sum_{j=0}^{w_{-2}-1} (-1)^{j} \int_{\mathbb{Z}_{p}} (w_{1}w_{2}x + w_{1}j + w_{2}y)_{n} d\mu_{-1} (y)$$

$$= \sum_{i=0}^{n} S_{1} (n, i) w_{2}^{i} \sum_{i=0}^{w_{2}-1} (-1)^{j} E_{i} \left( w_{1}x + \frac{w_{1}}{w_{2}}j \right).$$

Therefore, by Corollary 2.2, (23) and (24), we obtain the following theorem.

**Theorem 2.4.** For  $n \geq 0$ ,  $w_1$ ,  $w_2$ ,  $w_3 \in \mathbb{N}$  with  $w_1 \equiv 1 \pmod{2}$ ,  $w_2 \equiv 1 \pmod{2}$ ,  $w_3 \equiv 1 \pmod{2}$ , we have

$$\sum_{i=0}^{n} S_{1}(n,i) w_{1}^{i} \sum_{j=0}^{w_{1}-1} (-1)^{j} E_{i} \left(w_{2}x + \frac{w_{2}}{w_{1}}j\right)$$

$$= \sum_{i=0}^{n} S_{1}(n,i) w_{2}^{i} \sum_{i=0}^{w_{2}-1} (-1)^{j} E_{i} \left(w_{1}x + \frac{w_{1}}{w_{2}}j\right).$$

**Remark.** When  $\lambda = 1$ , we note that  $2Bl_n(x|1) = Ch_n(x)$ . By Theorem 2.3, we get

$$Ch_n(w_2x) = \sum_{j=0}^{w_2-1} (-1)^j Bl_n(w_2x+j|w_2),$$

where  $Ch_n(x)$  are the Changhee polynomials which are defined by

$$\sum_{n=0}^{\infty} Ch_n(x) \frac{t^n}{n!} = \frac{2}{t+2} (1+t)^x, \quad (\text{see [7]}).$$

### REFERENCES

- S. Araci and M. Acikgoz, A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials, Adv. Stud. Contemp. Math. (Kyungshang) 22 (2012), no. 3, 399-406. MR 2976598
- [2] A. Bayad and T. Kim, Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials, Adv. Stud. Contemp. Math. (Kyungshang) 20 (2010), no. 2, 247-253. MR 2656975 (2011d:11274)
- [3] M. Brickenstein and A. Dreyer, Gröbner-free normal forms for Boolean polynomials, ISSAC 2008, ACM, New York, 2008, pp. 55-62. MR 2500373 (2010h:68222)
- [4] M. Cenkci, Y. Simsek, and V. Kurt, Multiple two-variable p-adic q-L-function and its behavior at s = 0, Russ. J. Math. Phys. 15 (2008), no. 4, 447-459. MR 2470847 (2009m:11025)
- [5] D. S. Kim and T. Kim, A note on Boole polynomials, Integral Transforms and Special Functions, (in Press).
- [6] D. S. Kim, T. Kim, S.-H. Lee, and S.-H. Rim, Umbral calculus and Euler polynomials, Ars Combin. 112 (2013), 293-306. MR 3112583

- [7] D. S. Kim, T. Kim, and J. J. Seo, A note on changhee polynomials and numbers, Adv. Studies Theor. Phys. 7 (2013), no. 20, 993-1003.
- [8] T. Kim, p-adic q-integrals associated with the Changhee-Barnes' q-Bernoulli polynomials, Integral Transforms Spec. Funct. 15 (2004), no. 5, 415-420. MR 2086653 (2005):11171)
- [9] \_\_\_\_\_, Symmetry p-adic invariant integral on Zp for Bernoulli and Euler polynomials, J. Difference Equ. Appl. 14 (2008), no. 12, 1267-1277. MR 2462529 (2009):11023)
- [10] T. Kim, D. S. Kim, D. V. Dolgy, and S. H. Rim, Some identities on the Euler numbers arising from Euler basis polynomials, Ars Combin. 109 (2013), 433-446. MR 3087232
- [11] V. K. Leont'ev, On Boolean polynomials, Dokl. Akad. Nauk 388 (2003), no. 5, 593-595.
- [12] \_\_\_\_\_, Symmetric Boolean polynomials, Zh. Vychisl. Mat. Mat. Fiz. 50 (2010), no. 8, 1520-1531. MR 2761750 (2011k:06029)
- [13] S.-H. Rim and J. Jeong, On the modified q-Euler numbers of higher order with weight, Adv. Stud. Contemp. Math. (Kyungshang) 22 (2012), no. 1, 93-98. MR 2931608
- [14] S. Roman, The umbral calculus, Pure and Applied Mathematics, vol. 111, Academic Press Inc. [Harcourt Brace Jovanovich Publishers], New York, 1984. MR 741185 (87c:05015)
- [15] Y. Simsek, Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions, Adv. Stud. Contemp. Math. (Kyungshang) 16 (2008), no. 2, 251-278. MR 2404639 (2009f:11021)
- [16] \_\_\_\_\_, Complete sum of products of (h, q)-extension of Euler polynomials and numbers, J. Difference Equ. Appl. 16 (2010), no. 11, 1331-1348. MR 2738952 (2011m:11050)
- [17] \_\_\_\_\_\_, Interpolation functions of the Eulerian type polynomials and numbers, Adv. Stud. Contemp. Math. (Kyungshang) 23 (2013), no. 2, 301-307. MR 3088760

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA

E-mail address: dskim@sogang.ac.kr

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

E-mail address: tkkim@kw.ac.kr